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HERIEEE _
oH DO BOD SS KEEHK
(mg/) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 10 0.5(<0.5) 2 970
48] 75 11 <05 2 40
6A| 74 9.4 <05 2 43
8A 1.4 8.7 0.7 5 43
10A] 8.2 8.8 <05 <1 4600
128 75 11 <05 2 1100
28 75 11 <0.5 <1 9
BEEE
NS INESS & R VAR S kB  [7FILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.05LLF | 0.01LLF | 0.0005LLF
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2H - - - - - - -
ooa0f] .o |L2-070[1,1->50a[>X-1,2->50]1,1,1-rJ)70
PCB 5 bR A E 3 T4y | TFLY NIFLo nTAs
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eiE] e [0.028LF | 0.002LLF [0.004LLF | 0.02ELF | 0.04LLF 1LF
EfE[ <0.0005 [ <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
48] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A| <0.0005 [ <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8H - - - - - - -
10H] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
12H8] <0.0005 | <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
2H - - - - - - -
1,1,2-ky4 [FUZAR|FrS900I(1,3-07A — . —sen FARA
nAz4y | TFLY | FLr  |pFasy| TIIL | YTV )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B {E]0.006 LT 0.03LLF | 0.01LLF [0.002LLF [0.006 L F| 0.003LLF 0.02LLF
EfE[ <0.0006 [ <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10H] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12H8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2H - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.23 0.1 <0.1
4H] <o0.001 <0.001 0.21 <0.1 <0.1
6A] <0.001 <0.001 0.22 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.28 0.1 <0.1
12H] <0.001 <0.001 0.22 0.1 <0.1
2H - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2@ | saotus | VEpTY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.26 0.018 <0.04 <0.005 <0.001 <0.008
4A - 0.26 0.012 <0.04 <0.005 <0.001 <0.008
6H - 0.26 0.010 <0.04 <0.005 <0.001 <0.008
8A - 0.25 0.021 <0.04 <0.005 - -
108 - 0.30 0.048 <0.04 <0.005 <0.001 <0.008
128 - 0.24 0.004 <004 | <0.005 <0001 <0.008
28 - 0.25 0.012 <004 | <0.005 - -
BiLH HIHERTE | )BT ; = i S
IT/=| xS coD el > AE ESizEX
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 5 0.7 0.02 0.01 2 10
4H]| <0.02 5 0.5 <0.01 <0.01 <1 8
6A] <0.02 4 1.0 0.01 <0.01 2 70
8A - - 1.4 - 0.01 7 60
10H]| <0.02 5 <0.5 0.03 0.01 <1 100
12H]| <0.02 Ji <0.5 <0.01 <0.01 <1 80
28 - - 0.5 - 0.01 1 70
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128 i 9.5 12.5 =E BE |meE |
28| /N 45 8.5 = B meE e
$ERREIER -
oH DO BOD SS KEEHK
(mg/) (mg/1) (mg/l) | (MPN/100ml)
E&(E] 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE (75%1E) - 9.9 0.5(0.6) 2 670
48] 75 11 0.6 1 40
6A]l 75 94 <05 1 23
8A 15 8.5 0.6 3 23
108] 75 8.7 <05 <1 1500
128 756 11 <05 2 2400
28 75 11 0.5 <1 9
BEEE
NI INED S A ANEvAL| #ME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE] 0.01LLF | JE4H | 0.01LLF | 0.05LLF | 0.01LLF | 0.0005LLF e
EiH{E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -
oo00A pwe |1,2-090[11-500| > 2-1,2-250(1,1,1-F)H0
PCB gy | PREER | hrgy | 'zrly | ozFly AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eEiE] e [0.0280F | 0.002LLF [0.004LLF | 0.02ELF | 0.04LLF 1LF
B3] - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
28] - - - - - - -
1,1,2-ky4 [FUZAAR|FrS900I(1,3-247A = S mpate FARA
nazss | 3L | FLy  |pFamy| TPI7LA| YOV I
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAE(E]0.006LLF10.03LLF | 001LLF [0.002LLF[0.006LLF|[ 0.003LLF 0.02LLF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2A] - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
XMl 001LLF [001LLF| 10UF 0.8LLF 1LLF
FEE - | - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N— A~ N RILLT L
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.23 0.014 <0.04 <0.005 - -
4R - 0.23 0.009 <0.04 <0.005 - -
6H - 0.24 0.007 <0.04 <0.005 - -
8H - 0.23 0.016 <0.04 <0.005 - -
10A - 0.22 0.038 <0.04 <0.005 - -
124 - 0.22 0.003 <0.04 <0.005 - -
2R — 0.22 0.009 <0.04 <0.005 — —
BiLH B | VB s o =3 S
I/ LA coD =% > EE BERfcEE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
FHfE]l - - 0.9 - - 2 50
4H - - 0.7 - - <1 6
6H - - 0.8 - - <1 70
8H - - 1.3 - - 6 50
108 - - 0.9 - - <1 50
128 - - 1.0 - - <1 60
2R - — 0.8 — — <1 70




